normalized X?

[ normalized x? probability |

0.

Entries 254159

Chiz_prob

Mean 0.539

t - | Std Dev 0.3132

+ - [Entes 254165

Thiz_prol

Mean 0.539
Std Dev

chiz
- Entries 254159
107} - Mean 1.011
: Std Dev 05847
—
_ Entries 254165
10 Mean “Loit
F Std Dev 0.584
1073k
107F
10°F
Py PPN PO Y P P U TP Y Y
E=lots .. .
©
o
0.95 e
0 2 4 6 8 10 12 14 16 18 20

X2

%0 010203040506070809 1

Prob(x?)

5
= kol
=)

A

a4
=

al

o

3

* | === DQM_V0001_R000000001__Global__CMSSW_X_Y_Z__allNODNN

o

Tt

.| = DQM_V0001_R000000001__Global__CMSSW_X_Y_Z__ all

Ratio

O

< x2/ ndf >
N
Lnl T T
L]

0. . . L
10 1 10 10? pw3

<dpp. > (%)

107 1 10 102 p103

=3 -2 -1

0 2 3
TP n (PCA to beamline)

18
16

< X2/ ndf >

i
T T[T [T [T T I [T TIT T

Ratio

107 1072

-1
AR(track, jeltS)



	Contents
	Page 1


